
Knight’s Tour
coordinates

Count photons (n
k
)

for bin ! me (τ)
Update x

k
, y

k
, σ

k

using x
k-1

, y
k-1

, σ
k-1

, n
k 
and c

k

Output x
k
, y

k

to feedback loop

Scale voltage
to choose grid size

Output voltage
to EOD

Predict
x

k
, y

k
, σ

k

Photon
Arrived?

Update z
k
, σ

z,k

using z
k-1

, σ
z,k-1

, c
z,k

Output z
k

to feedback loop

Predict
z

k
, σ

z,k

Retrieve c
z,k

from TAG lens 
synch signalYES

NO

(a) XY Posi! on Es! ma! on Loop

(b) Z Posi! on Es! ma! on Loop


